BES25

THIEEZETRUSHEERFIIFMETER

( % =)



HES525

RHSEE=ETRINEKhEERFNISIHEFTERE(E15)

FHMIFEE=ETRISHEERFISRIHEFERE (FE15)[F. RITEDHDIETA
7S 8

(BABREFHEDMHEIE)
F1% BEORARLFEOMREIZTNENA, 149 FHZEML, RABRHTHE
Di%E%1, 506, 36 9FMHET S,
2 BABEFPEOREORARVERRASCLDOEBELHVICHEROBRAREFTED
TEEF. F1R BARETFEME] 2X5,

SHMIFE9A 7 HIEE

[11
11
=
m
i
=
Ell
H.



F1R BARHPEMIE

m A
E: b} BIERTDEE # E % B
FH FH M
4 #BEs 1 4,149 4,150
1 s 1 4,149 4,150
® a 1,502, 220 4,149 1, 506, 369




%

e 5 IERTDEE # IE % B
+A M M
1 }_ﬁﬁéﬁ%ﬁ'ﬁ%gﬁfﬁﬁﬁéﬂ 1,500, 359 4,100 1,504, 459
1 }%ﬁéﬂ%ﬁ%%l’iﬁfﬂﬂi@é%ﬁ 1,500, 359 4,100 1,504, 459
2 HEXHE 1,759 49 1,808
2 fRHE 1 49 50
% H a g 1,502, 220 4,149 1, 506, 369




BABHEETEEIERRAME
1 & 18

(® A)
® FHIERTDEE W OIE % g
+H +H A
4 @ 1 4,149 4,150
# A & & 1,502, 220 4,149 1,506, 369




(% )

e FHIERTDEE W E % &
FM FA FM
rHShEERLEESHTE 1,500, 359 4,100 1,504, 459
HEXHE 1,759 49 1,808
1,502, 220 4,149 1, 506, 369

%

op




# IF %8 o B K KW R

(i E Bt R - & B IR
H R X 4H £ #w B & x4 » ft
A FA A A
0 0 0 4,100
0 0 0 49
0 0 0 4,149




2 ® A
45K RE

118 #@s

8 FHIERTODEE # IE %8 Hi
FH FH FH
1 gHe 1 4,149 4,150
en 1 4,149 4,150




E B
X o 2
e FH
1 #BE 4,149

®mAEnE BRI



3 =&

1 RPSHEERLEESMHTE

116 RYeHhEERLEESHAE

fIEXE O M KR W R
=] FHIERTDEE W OIE % E Y E Bf s —fREHE
ERXtE | 80 K & | £ O J
FM FmM FM FM M FM FmM
| HHIEEE 1,500, 359 4,100 1,504, 459 0 0 0 4,100
ERLEE
aftE
&t 1,500, 359 4,100 1,504, 459 0 0 0 4,100

10




B BA
=3 ) )
FM FM
18 BHEESHPEY 4,100| #YiEHEERLEESHAE 4,100
XftE BrUMSHEERLBESRRMMGE 4,100

11

®mAEnE BRI




23 BZHE 218 @&
WMEZE O B B N I
= WEMODSE | W E %8 4% T Bt B -
EEXHE | H B | 2 0 o
M M M M A M M
— R SEtig 1 49 50 0 0 0 49
He
E 1 49 50 0 0 0 49

12




B
=3 ) )
FM FM
2] BRe& 49| —B=itigdE 49
RHE 49

13

®mAEnE BRI






